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[ mSv/h]

2 5cm 150cm 5cm 150cm
[1] 6.9 12.7 [18] 8.9 8.9
Ol [ m = 13.4 18.2 [18] 55 6.8
L D [3] 195 184 [19] 6.8 85
}'D GO a1 141 17.9 [20] 7.2 12.4
(2;3 ) 2%) (2%)(2:1)(22,)({3) 5] 105 185 [21] 6.6 108
- [6] 14.6 30.3 [22] 7.7 108
Cj Q _Q\‘ [71 155 - [22] 8.4 8.4
. _O (. N [g] 10.8 . [23] 9.8 11.6
A’ >0 %‘HI [9] 14.7 216 [24] 137 14.4
..- > 9] 145 10.8 [24] 12.6 16.8
= %i’ [10] 14.3 15.9 [25] 16.0 157
Py [11] 10.9 17.3 [26] 18.2 152
O | BT 10.3 15.7 [27] 408 14.3
S 5—[ 13 11.0 16.5 [27] 15.4 120
. . ._2(2939: [14] 7.2 10.8 [28] 238 15.4
[14] 137 123 [29] 105 -
[15] 9.2 8.7 [30] 10.3 -
— | [16] 7.8 8.7 [31] 8.9 11.0

[17] 7.4 9.8
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50mSv/h mSv/h]
3 5cm 150cm 5cm 150cm
N [1] 821 447 [19] 94.0 98.7
[1°] 74.3 51.6 [20] 73.2 65.3
' (I o= (T [2] 97.4 78.0 [21] 68.8 492
| % {1 1 [31 89.1 735 [21] 65.4 424
1) (3.(1'[{2.9) (2.8) (3.2) (j.d) (34) (35) (36) %(37) .(38) [3] 723 779 [22] 40.0 351
5 *@n) e [4] 81.7 91.4 [23] 35.2 24.1
E: & (206)0(27) — // [5] 65.5 64.9 [24] 21.7 21.4
(24) : Ej Q ‘\ [6] 60.0 257 [25] 335 245
(23) © (. N \l= [7] 159 16.2 [26] 217 24.9
- 22) A.n:..: %xﬂ [8] 15.7 15.8 [27] 21.7 275
i (2'1) o H- —1] [8°] 185 17.8 [27°] 17.7 244
. ] o> 1 [9] 87.8 85.2 [28] 73.0 355
0) o — o] :i[}{[ [10] 915 745 [29] 24.1 257
(19) ON & 3 O [10°] 925 95.8 [30] 182 278
d U y S [11] 66.8 69.9 [31] 31.7 341
(18) (1) 6T 5) Y Qyj=s! = S8 e 227 22
(1) (12 (3) 1), @) ‘Q T ® S | 23 46.2 57.6 [33] 36.7 401
0 :1(14) o o0 (° ¢ o [14] 303 441 [34] 294 375
% 0 {! JAE {55 [14°] 27.7 413 [34] 27.1 37.4
= [15] 69.8 413 [35] 27.7 417
Dﬂ E - o[ [15] 53.7 40.4 [36] 47.7 725
[16] 50.6 40.6 [37] 203.1 124.7
[17] 180.9 57.4 [38] 59.7 85.2
[18] 102.0 798
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mSv/h
( ( ( (
1500mm) 50mm) | 1500m

50mm) m)
[1] 59 7.9 [12] 45 51
[2] 6.0 8.1 [13] 4.4 4.6
[3] 5.2 8.1 [14] 4.3 4.4
[4] 45 6.2 [15] 4.4 4.4
[5] 13.1 84 [16] 4.5 4.5
[6] 6.5 8.9 [17] 5.2 4.1
[7] 59 6.2 [17] 51 4.0
[8] 4.3 51 [18] 51 4.9
[9] 25 3.8 [19] 3.3 4.0
[9] 2.6 32 [20] 7.1 4.8
[10] 32 4.4 [21] 4.0 4.4
[11] 3.7 4.0
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